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1. Use the array to help you fill in the blanks.
6x2= 12

Krhe dotted line in the
array shows how |
can break apart 6 x 2
into two smaller
facts. Then!can add
the products of the
smaller facts to find
\the product of 6 x 2.

ﬂhe expressions in the

parentheses represent
the smaller arrays. | can
add the products of these
expressions to find the
total number of hearts in
the array. The products
of the smaller expressions
are both6. 6+ 6 = 12,

\\i}ﬁXZ:lZ. /

6 x2= _12

| know the first factor
in each equation is 3
because there are 3
6 rows in each of the
smaller arrays. The
product for each array

is 6. /;

Bx2)+(Bx2)=_6 + 6

Hey, look! It's a doubles fact!
6+ 6= 12. | know my doubles
facts, so this is easy to solvel

IEH strategy to multiphy,
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Model the distributive property with arrays to decompose units as a 15




2. Lilly puts stickers on a piece of paper. She puts 3 stic

kers in each row.

a. Fill in the equations to the right. Use them to draw arrays that show the stickers on the top and

bottom parts of Lilly's paper.

//

| know there are 3 stickers in each row, and this
equation also tells me that there are 12 stickers inall.on
the top of the paper. ican skip-count by 3 to figure out
how many rows of stickers there. 3,6,9,12. Iskip-
counted 4 threes, so there are 4 rows of 3 stickers. Now
\\I can draw an array with 4 rows of 3.

~

"\

AN

| see 6 rows of 3 altogether. | can use the
products of these two smaller arrays 1o
solve 6 X 3.

~

| 'can use the same strategy to
find the number of rows in this
equation. | skip-counted

2 threes, so there are 2 rows of
3 stickers. Now | can draw an

array with 2 rows of 3.
o /

i6 Lesson 100 Model the distributive property with arrays 1o decompose units as a
strategy to multiphy.
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